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yl = r.1 SI n 91 (2)
X, =T, cosf, +r,cos(6, +6,) (3)
Yy, =1,sin6, +r,sin(6, +6,) (4)

X = _rlngin 6, (5)
yl = r.16.1 Cosel (6)
X,=-rfsing -n(f +8)sin(@ +6) (7)
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m=210

n2=0.3

ri=1.0

r2=11

gdt =0

q= 3. 141592, 180
s01=120q
ap=9q
s02=360g-4ap
g=9.8

fa =309

gcf = gQosfai 1 gdt
tro=1
trity=tr0
rr=(r2+rl @sgapy)2+ (r19nra pp)?
jj =n2rr+mr1?
al=tr0/jj
vli=Sytr@l (r2+r1@sra py) +gcf QsisOl-a py) 7 (r19na pr)1
unc =vi1?/al; 2
unc/q

ank = sO1 + unc
ank/q

NSl ve[{gcf ((nl+n2) ri@s(s3(t]] + N2r2@s(s3(t] +s2(t11) -2n2rlr239 n(s2(t]]
s32rt 715221t - M2rir29 ns2rt 11 S22t 12+ mMr1?s32' [ty + n2r12s32' [t
+MRr22s32' [t +2n2rlr2Ms(s2rt]] S32' (t] + n2r22s22' [t}
+M2rlr2Qs[s2[t11s22' [t =trty, s321t]==s3' [t],
n2r2 (gcf Qss3[t1+s2rt11 +r19ns2it; 532[t]2
+(r2+r1@s[s2rt1]) 832" [t] +r2s22' [t]) =0, s22[t] ==s2' [t], s32[0] == V],
s3[0) == ank, s22[01 == 0, s2[0) == -al p}, {s2[t], s22[t1, s3[t1, s32[t1}, (t, O, 3]

gy3=Hot[Bval uate[s3rt;-s02 /. Qitryrrliig, t, 0, 33, Fane -> True]
gz3=Hot [Bval uaters32rty /. Quit (-21111111, t, 0, 3y, Fane -> Truej

gy2=Hot [Bval uaters2rty /. Quit (-31111111, t, 0, 33, Fane -> True, HotSyle ->
{Dashing[{0.02, 0.02;11]

gz2=Hot [BEval uaters22rty /. Qut -41111111, t, 0, 3y, Fane -> True, HotSyle ->
{Dashingr¢0.02, 0.02}37131

gzz = Showgz2, gz3, HotRange -> {0, 23, Franelabel ->
¢ (961/8t), (062/01) "}

ayy = Sowgy2, gy3, HotRange -> (-2, 3y, Franelabel ->
{Il t II, n el, 62 n }]
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ri=1.0
r2=11
an=30
ax=135

g=3. 141592, 180
fad=30

fa =fadq

gdt =0

gcf = gdt 9. 8@s(fai ]
asl=121
xn=anq

XX =a xq

fix 1= (r2+rl Qsixy +gcf sasl) 7 (rl S nixy)
oxl=Hotfx1/2 (X xn, xx3y, Fane -> Truej
fvix_a =St f xa;

gvl=Hot [fvixy, (X, xn, xx3, Fane -> True]

r2=14

fix 1= (2+r1 @sxy+gcf sasl) 7 (rl 9nixy)
ox2=Hotfx1/2 {x, xn, xx3, Fane -> True, RotSyle ->
{Dashingr¢0.01, 0.013713]

fvix =3t f (x11

ov2=Hot [fvixy, X, xn, xx3, Fame -> True, Rot3yle ->
{Dashingr¢0.01, 0.013713]

or=Showgxl, gx2, HotRange -> {0, 3.3, Franelabel -> (" a .o
or=Sowgvl, gv2, HotRange -> {0, 3.3, Franelabel -> (" a .o
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ri=10

q=3 141592,/ 180
ad=90
ap=adq
fad=30

fai =fadq

gdt =0

gcf = gdt 9. 8sifai ]
asl=121
xn=10
xx=15

fIx 1= (x+rl Qsga py +gcf rasly 7 (rl Snial py)
oxl=Hotfx1/2 (X xn, xx3y, Fane -> Truej
fvix_ 1 =St (f [x3 asly

gvl=Hot [fvixy, (X, xn, xx3, Fane -> True]

ad=120
ap=adq

fIx 1= (x+rl Qsra py +gcf rasly 7 (rl Snral py)
ox2=Hotfx1/2 {x, xn, xx3, Fame -> True, HotSyle ->
{Dashingr¢0.02, 0.02}13}1

fvix_ 1 =St 1f [x3 asly

ogv2=Hot [fvixy, ¢x, xn, xx3, Fane -> True, HotSyle ->
{Dashingr¢0.02, 0.02}13}1

or=Showgxl, gx2, HotRange -> {0, 0.8;, FanelLabel ->

{Il r II’ n Y n }]
or=Sowgvl, gv2, HotRange -> {0, 153, FaneLabel ->

{l r ll’ " ll}]
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